B T E TN pOWER 71

RStriciER

SIGN EXPLANTION

=1
(Table 1)
Ny N 2 SR (I A AL E )
With input flange (using with electric motor)
NV NS AL
With input shaft
265.30-40.50-63.75-110-130 WENMA LSS (F S H)
Type(centre distance)
7.5-10-15-20-25-30-40-50-60-80-100 é‘\ﬁﬁ%}i
MNominal ratio
Y 0.18 EEEEYRTIEIP, hEH0.18KW
: With electric motor in series Y, the power is 0.18KW
S FEAIZIAEAL, ThEH0.18KW
With breaking motor, the power is 0.18KW
HHE= R RN
free=die) Ouput flange and mounting position
- e
With torque arm
- AL (4TS
With extention worm shaft
" T4 1 L
With single output shaft
&z B 4 L
With double output shaft
iz AR
MODEL DESIGNATION
1 3 4 5 6
L] = [] = [], = [Lll— [.]
NMRVEY WM. HBER. vz
Model NMRV Input and output shaft Code: YZ
NRVE! DZ
Model NRV DZ
HLEEF#&25-130 sz
Type 25-130 sZ
AFREBIEL7.5-100 TELAM
Nominal ratio 7.5-100 Omiting without it
B SR R T (4% ) Y(KW) ZEAMHEER: F1
Electric Motor type and power Y(KW) Accessory for mounting: F1
Z(Kw) F2
Z(KW) F2
TEEYLEBE TA
Omiting without it TA
TEL AR
Omiting without it
331

0534-2609682



®
power myv” [T

&3}
(Chart 1)
NMRV NRV
=t
©
S| I ) «TA
YZ

0534-2609682



POWER Bf°

0534-2609682



POWER ﬁ],]'® 'RV'Kﬂrgﬂﬁﬁﬂ

RV Wo

ER %P EXK
THE REQUIREMENT OF USING AND MAINTAIN

REFMBEAEINREVM IS, BEENES, BKEMEHEVE (W) SEEYLZ E R EHH
ES5EEENHENEER.,
RN IEIEIT E 400/ i BB HT 3R R . HFRIERH A HE 29 44000/ At,
MEANRERBREBHE, HENKE. XH&IhE R HEITIRE R R E S E R .
FEBRFRUENIINER, REFRRL. SWLAFFEH*R.
Do not make pressure on output part and box when mounting it.
It must replace lubrication oil afler it runs 400 hours when first using it, after it, replace lubrication oil per run-
ning 4000 hours.
It must keep coaxial degree and vertical degree in just lever when conjoining reducer with other device.
Must keep penty of oil lubrication in the reducer and check it offen.
Must add or replace in time when ulubrication oil reduce or get bad.

It is usefull to keep reducer clean so that reducer radiates warmth more efficiently.

AT REYLE RSB S IR R

Comparative table of worm microreducer model domestically

NRV25 NRV30 NRV40 NRV50 NRV63 NRV75 NRV90 NRV110 NRV130
AATF
NMRV25 NMRV30 NMRV40 NMRV50 NMRVE3 NMRV75 NMRV90 NMRV110 NMRV130
NRV25 NRV30 NRV40 NRV50 NRVB3 NRV75 NRVS0 NRV110 NRV130
AT
NMRV25 NMRV30 NMRV40 NMRV50 NMRVE3 NMRV75 NMRV90 NMRV110 NMRV130
WJ25 WJ30 WJ40 WJ50 WJ63 WJ75 WJs0 WJ110 WJ130
» WSJK25 WSJK30 WSJK40 WSJK50 WSJKE3 WSJK75 WSJK390 WSJK110 WSJK130
WSJZ25 WSJZ30 WSJZ40 WSJZ50 WSJZ63 WSJZ75 WSJZ90 WSJZ110 WSJZ130
- +
RIEFR2RK T3, AT H A XBHEYLA TE R &i(sh)
By table 2 and 3, can find out the service factor (sf) about worm reducer. w2
(Table 2)
/N EI T R AR 2 F 100K
N° of starts per hour<10
B HI{ERE
TR S B Hours running per day
Nature ofload generated by
driven machine <2 2~8 8~16
ﬁﬂlfﬁ'ﬁﬁ sf=0.8 sf=1 sf=1.25
Uniform
Gl 7
Moderare shock sf=1 sf=1.25 sf=1.5
HEAET | s 3
Mooy ok sf=1.25 sf=1.5 sf=1.75

0534-2609682




B A T POWER 71

=3
(Table 3)
£5 /)N e} 18] B M B EELE PR TR R 3 100
N° of starts per hour >10
58 I Enr#
nFRGEYVLIA A AR Hours running per day
Nature ofload generated by
driven machine <2 2.8 8~24
WA sf=1 sf=1.25 sf=1.75
Uniform
FHhRRS i #
o sf=1.5 sf=1.75 sf=2
WERRF
ol sf=1.75 sf=2 sf=2.25
SR ( «TIERHE=1)
Data table (sf =1) =4
(Table 4)
n1=1400
| n2
25 30 40 50 63 75 90 110 130
0.25 0.41 0.90 1.58 284 4.06 6.3 10.4 16.1
KW1
75 el 187
11 18 40 71 128 185 290 480 750
i 0.21 0.32 0.69 1.23 2.19 3.25 5.11 8.57 13.5
:
10 il 140
12 18 40 72 130 195 310 520 820
0.15 023 0.48 0.88 1.65 2.30 4.09 6.48 10.3
15 Sl 93
M2 12 18 40 74 140 200 360 570 920
KW 0.12 0.18 037 0.68 1.22 1.88 3.10 483 7.76
3
20 M2 70
12 18 39 73 135 210 355 560 910
; 0.18 0.30 0.54 0.98 1.47 2.43 412 6.49
KW1
25 ) 56
5 21 38 70 130 200 340 590 930
KW 0.09 0.15 0.31 057 1.06 1.48 257 3.90 6.35
;
30 e 47
13 20 45 84 160 230 410 630 1040
0.08 0.11 023 0.42 0.76 112 1.76 2,87 493
KW1
40 e 35
13 18 4 76 145 220 360 610 1050
. 0.06 0.09 0.18 0.34 0.60 0.89 1.38 235 3.83
50 - 28
11 17 39 73 135 210 340 600 980
0.04 0.08 0.15 0.28 0.51 075 1.13 1.9 3.05
KW1
60 i 23
10 16 36 68 130 200 320 560 900
- . 0.05 012 0.22 0.39 0.58 0.83 1.34 2.26
80 M2 18
~ 13 33 65 122 190 285 490 840
- 5 . 0.09 0.16 0.34 0.48 0.67 1.07 1.70
100 ol 14
: : 29 55 118 180 270 460 740

0534-2609682



POWER @71
ST (*AL4 4 1400RPMER )

Data table (with 4 poles, 1400rpm motor) =5
(Table 5)

%3 i ne kwi M: sf %E‘ i ne kw Mz sf %‘E‘ i n: kws M- si

7.5 186.7 0.09 4 2.8 7.5 186.7 0.75 a3 1.7 7.5 186.7 4 180 1.3

10 140 0.09 5 2.3 10 140 0.75 42 1.3 10 140 4 296 1.1

15 93.3 0.08 7 1.6 15 93.3 0.75 58 1.0 15 93.3 4 342 0.9

20 70 0.09 k] 13 20 70 0.75 B1 0.9 20 70 4 458 0.8

30 46.7 0.09 12 1.0 25 56 0.55 71 1.0 25 56 3 420 0.8

25 40 as 0.08 15 0.9 50 30 46.7 0.55 81 1.0 a0 30 46.7 3 479 0.9

50 28 0.08 12 0.9 40 as 0.55 101 0.8 40 a5 2.20 433 0.8

80 23.3 0.06 14 0.7 50 28 0.37 80 0.9 50 28 2.20 492 0.6

60 23.3 0.37 89 0.8 60 23.3 1.50 424 0.8

B0 17.5 0.25 72 0.9 80 17.5 1.10 365 0.8

100 14 0.18 60 0.9 100 14 0.75 302 0.9

%ﬂ? i n: kwi M: sf .E}E' i n: kw M: sf .ﬁ'ﬁ' i na fws Ma sf

7.5 186.7 0.18 7 1.9 7.5 186.7 1.50 68 1.5 7.5 186.7 7.50 345 1.4

10 140 0.18 9 1.5 10 140 1.50 a8 1.2 10 140 7.50 455 1.1

15 93.3 0.18 13 1.0 15 93.3 1.50 126 0.9 15 93.3 5.50 484 1.2

20 70 0.18 17 0.8 20 70 1.50 166 0.8 20 70 5.50 638 0.8

25 56 0.18 21 1.0 25 56 1.10 146 0.9 25 56 5.50 790 0.8

30 aon 46.7 0.18 24 0.8 63 30 46.7 1.10 167 1.0 110 30 46.7 4 647 0.9

40 35 0.12 19 0.9 40 35 1.10 207 0.7 40 35 3 638 0.9

50 28 0.12 23 0.8 50 28 0.55* 124 1.1 50 28 3 767 0.8

60 23.3 0.08 19 0.9 60 23.3 0.55* 140 0.9 60 23.3 2.20 648 0.8

8O 17.5 0.06 14 0.9 80 17.5 0.37 115 14 80 17.5 1.50 548 0.8

100 14 0.37 128 0.9 100 14 1.10 473 0.9

%‘E. i n: kwi M: st 'I%:El i ns kw M= st %El i ne kws M= sf

7.5 186.7 0.37 16 1.6 7.5 186.7 4 182 1.0 7.5 186.7 7.50 343 1.8

10 140 0.37 27 1.3 10 140 3 180 1.1 10 140 7.50 453 15

15 93.3 0.37 28 0.9 15 93.3 3 261 0.8 15 93.3 7.50 664 1.1

20 70 0.37 as 1.0 20 70 2.20 240 0.8 20 70 7.50 B64 0.8

25 56 0.37 47 0.8 25 56 1.50 205 1.0 25 56 7.50 1074 0.8

40 30 46.7 0.37 53 0.8 75 30 46.7 2.20 337 0.7 130 30 46.7 5.50 900 1.1

40 as 0.25 44 0.9 40 as 1.10 216 1.0 40 a5 5.50 1171 0.9

50 28 0.22 47 0.8 50 28 1.10 264 0.8 50 28 5.50 1379 0.7

60 23.3 0.18 43 0.8 60 23.3 1.10 279 0.7 60 23.3 4 1179 0.8

B0 17.5 0.12 34 1.0 80 17.5 0.55 180 1.0 80 17.4 2.20 816 1.0

100 14 0.12 38 0.8 100 14 0.55 206 0.9 100 14 2.20 966 0.8
iE i Note Unit BT Unit
n=MNIEEF pm ni= Input speed pm me =4 HHIRE Nm M: = Output torque Nm

n=HHiEF pm n: = Output speed pm st = THERE sf = Service factor

0534-2609682




it POWER @71

E=REAE R~ -D
The type of flange and Hollow input shaft diameter D

k6 (Table 6)
me REARE LAFRTEZNEE i/Nominal ratio
e | EEES [ L 75 | 10 [ 15 [ 20 [ 25 [30 [ 40 [ 50 [ 60 | 80 [ 100
Flange type D
F<2 (Chart 2)
25 56814 50 65 80 g 9 9 9 - 9 9 9 9 - -
6385 85 15 o1 [n [n v |[n|[n|[n|n| |- |-
30 63814 60 75 9o [ M [n |[n v v |n|n|n| || -
56814 so 6 8 |9 |9 |9 |9 e |||l |o|o]|-
w0 71B5 10 130 160 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14
6385 85 15 40| 1 [ 1 [ 1 [ [ [ [ |1
80B5 130 165 200| 19 |19 [ 1919101010 -] -] -1 - y
50 71B5 110 130 160 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 | 14 TIT D‘
6385 65 15 10| - | - | - | - | - - |1n|n C_:F N [ -
90B35 130 165 200 | 24 24 24 24 24 24 24 - - = - - o [
63 80B5 130 165 200 | 19 19 19 19 19 19 19 19 19 - - i \ E\T 1
71B5 10 130 160 | - | - | - | - | - | - | 14| 14| 14 | 14| 14 : “_,//} R= 1
10012835 (180 215 250 | 28 |28 (28 [28 | - [28 | - | - | - [ - | - —}
75 90B35 130 165 200 | 24 24 24 24 24 24 24 24 24 - - .
80B5 130 165 200| - | - | - | - | - | - |19 | 19| 19| 19| 19
100M12B35 [180 215 250 | 28 | 28 |28 |28 [ 28 |28 [ 28 [ 28 | - | - | -
80 90B35 130 165 200 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24
80B5 180 166 200| - | - | - | - | - | - |19 | 19| 19| 19| 19
132B35 230 265 300 | 38 |38 |38 | 38 [ 38 [ - | - | - | - | - | -
110 100/112B35 [180 215 250 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28 | 28
90B35 130 165 200 - - - - 24 24 24 24 24 24 24
132B35 230 265 300 | 38 38 38 38 38 38 38 38 - - -
180 100/12835 [180 215 250 | - | - | - | - |28 |28 |28 |28 |28 | 28 | 28
90B35 130 165 200 24 | 24 | 24 | 24 | 24 E3
(Chart 3)
NMRV 25
I
; 4 H8
IS
11 HB8
!
o -« S0
A !
]
R [
g w
8 21 ]
2 |
/ 2
Y &
g 8
J
225 | 225
|
337

0534-2609682



PoWER an” EgE LT LT U

RV Wor:
E4 (Chart 4)
NRV NMRV 30-130
PR - Sy N S
: LEJ - [ s S . f -
: | ; 3 ==l A
t-u—gu.j 2 Y / ; 1 | %

KN NRV30-110 e

1

) i
A |- &l
| N l; B 2 l '*"J o E |
| =
| F —
K
L
37 (Table 7)

e R < (Dimensions )

Type | A ¢ |pH7| E F G H I L M [N(h8)| O P Q R s T v K
30 54 80 14 97 32 55 40 30 56 65 55 6.5 75 44 57 5.5 20 27 44
40 70 101 18 121.5| 43 70 50 40 71 75 60 6.5 87 55 71.5 6.5 23 35 60
50 80 |121.5| 25 145 49 80 60 50 85 85 70 8.5 100 64 84 7 30 40 70

100 | 1475 25 174 67 95 72 63 103 95 80 8.5 110 80 102 B 40 50 85

75 120 | 174 28 205 72 |1125 | 86 75 113 115 95 " 140 93 19 10 50 60 920

90 140 | 208 35 238 72 130 103 90 130 130 110 13 160 102 135 1" 50 70 100

110 170 | 2525 | 42 294 160 (1275 110 142 165 130 14 200 125 |167.5| 15 60 85 115

130 | 200 |292.5| 45 335 79 180 | 1475 | 130 155 215 180 16 250 140 |[187.5| 15 80 100 120
ne R <t (Dimensions )

Type| G1 | G2 | N1 | KA | KB | KC KE a | KM [KN(HB) KO KP | K | die) | b t1 x| v
30 63 51 29 | 545 6 4 M6 X 11(n4) | 0° 68 50 6.5(4/90° ) 80 70 9 5 16.3 Q" om
40 | 78 | 60 | 365 | 67 7 4 | M6X8(nd) | 45° | 87 | 60 9(4/90°) | 110 | 95 | 11 6 |208| o ©H
50 92 74 | 435 | 90 9 5 M8 X 10(nd) | 45° 20 70 11(4/90°) 125 | 110 14 8 28.3 § % %
63 | 112 | 90 | 53 | 82 | 10 6 |M8X14(n8) | 45° | 150 | 115 | 11(4/90°) | 180 | 142 | 19 8 | 283 g %%‘
75 | 120 | 105 57 m 13 6 M8 X 14(n8) | 45° | 165 130 14(4/90° ) 200 | 170 24 8 3.3 % SR
90 | 140 | 125 | 67 | 111 | 13 6 |[M10X11(n8)| 45° | 175 | 152 | 14(4/90°) | 210 | 200 | 24 | 10 | 383 | § =+
110 | 155 | 142 74 139 15 6 |[M10X 18(n8)| 45° | 220 170 14(8/90° ) 270 | 250 28 12 | 45.3 §' %
130 | 170 | 162 | 81 |151.5| 15 6 |M12X20(n8)| 45° | 225 | 180 | 16(8/90°) | 320 | 290 | 30 | 14 | 48.8 o ®

0534-2609682



i
RVIRAN Wt POWER @71
- 1
BEIMERT—RR
Overall dimensions for elecrtic motor
HES 56 63 71 80 a0 100 112 132
THE (KW) 006 [ 009 | 012|018 | 025 [037 | 085 075 | 114 [ 15 | 22 | 3 4 55 | 7.5
X 150 207 225 255 260 | 285 320 340 | 395 | 435
Y 120 130 145 165 171 171 201 226 266 266
5 1/ R AR < - o
. ; . a
Dimensions of single (double) output shaft ( )
=8 (Tale 8) B1
%p% Dhe)| B | Bi L L1 f b t —t i - r‘;"
25 | 11 | 23 [255| 81 |101 | - | 4 |125 | (&L E' ' : ﬂ — b=
30 14 30 325 | 102 128 M6& 5 16 A ~ 4 M -~ |
40 18 40 43 128 164 M6E 6 20.5 ‘ .
50 25 50 53.5 153 199 M10 8 28 I
63 25 50 53.5 173 219 M10 8 28
75 28 60 63.5 | 192 247 | M10 8 Kl — [
90 35 80 84 234 308 | M12 10 38 n
110 42 84.5 249 324 M16 12 45
L1
130 | 45 | 80 | 85 | 265 | 340 | M16 | 14 | 485 .

FIE {HER A 4l R~ (B3 2 5 sR LR BE AR RD)

Dimensions of extension worm shafts (Speed is as same as electric motor)

%9 (Tale 9)
ST 8 [ae)| T | b | ¢
30 | 45 | 9 | 20 [ 3 [ 105
40 53 1 23 4 125
50 | 64 | 14 | 30 | 5 | 16
63 75 19 40 6 21.5
75 | 90 | 24 | 50 | 8 | 27
90 108 24 50 8 27
10 | 135 | 28 | 60 | 8 | 31
130 155 30 80 8 33

BEBRT

Dimensions of torque arms

%10 (Tale 10)

2=l Aa|lB|lc| Db | E|F|a|[Hn]
25 | 70 | 33 [ 118 | 45 | 55 | 7 | 14 | 8
30 | 85 | 38 [138 | 55 | 6s | 7 | 14| 8 | 6
40 100 44 162 60 75 7 14 10 12
50 | 100 | 50 |18 | 70 | 85 | o | 14 | 10 | 12
63 | 150 | 55 | 223 | 80 | 95 | 9 | 14 | 10 | 12
75 200 70 300 95 115 9 25 20 20
9 | 200 | 80 310|110 | 130 | 11 | 25 | 20 | 20
110 | 250 | 100 | 385 | 130 | 165 | 11 | 30 | 25 | 25
130 | 250 | 125 [ 410 | 180 | 215 | 14 | 30 | 25 | 25

&6 (Chart 6)

==

E7 (Chart7)

gy

&/

0534-2609682




®
power a” R

LRAN

Mounting positions

B3

OmpARZ=S7 e@#fmE Ofhie

miE= FT RRINX 9
Positions of output flange iFi Chart 9
il _F2
BAREIRERN E10
Mounting positions of junction box Chart 10

0534-2609682




	331
	332
	333
	334
	335
	336
	337
	338
	339
	340



